
1

    CUSTOMER
       SUPPORT

VESTEL LARDER

WHITE GOODS INTERIOR PARTS

1

5

2

13

14

26

28 29 30

242322
25

3231

35

27

21

37

41

39

128

15

716

WIRE SHELF DESGIN

41

39

38
37

GLASS SHELF DESGIN



    CUSTOMER
       SUPPORT

2

WHITE GOODS

VESTEL LARDER

INTERIOR PARTS LIST

ABBREVIATIONS :
ASSY : ASSEMBLY
URT : URETHANE
R : REFRIGERATOR

POSITION 
NUMBER PART NAME

1 ASSY URT CAB/120
2 TOP HINGE/110
5 SCREW KA 40*8 WN 1412 EJOT
7 SCREW  M5*14 WN 1342-H EJOT

13 DOOR SWITCH
14 TUNNEL DRAIN PLUG
15 BOTTOM HINGE/110 
16 STATIONARY FOOT
21 THERMOSTAT BOX ASSY/110
22 LAMP (E14/220-240V/15W )
23 LAMP HOLDER-E14
24 HEAT REFLECTOR FOIL/140
25 SCREW PLS KA 40*13(INOX-S.UÇ)SUS 430
26 THERMOSTAT BOX/110
27 THERMOSTAT
28 LAMP COVER/110
29 THERMOSTAT KNOB SRGF/260 (NUMBER)
30 THERMOSTAT KNOB SPRING
31 THERMOSTAT BOX SCREW CAP/140
32 SCREW KA 40*18 WN 1411(INOX-SİV.UÇ)EJOT
35 WIRING HARNESS/THERMOSTAT/150 (W.SWITCH)
37 R COMPARTMENT SHELF/110
38 R COMPARTMENT SHELF TRIM/110
39 CRISPER COVER/110
41 CRISPER/110

128 R COMPARTMENT SHELF/120



3

    CUSTOMER
       SUPPORT

VESTEL LARDER

WHITE GOODS DOOR  ASSY. PARTS

154
OPTIONAL180

152

155

180

167

190

174



    CUSTOMER
       SUPPORT

4

WHITE GOODS

VESTEL LARDER

DOOR  ASSY.  PARTS LIST

ABBREVIATIONS :
ASSY : ASSEMBLY

POSITION 
NUMBER PART NAME

152 BUSHING CAP
154 LOGO (OPTIONAL)
155 DOOR ASSY/110DM
167 DOOR LINER TRIM/110
174 R/D BOTTOM STOPPER/140
190 SCREW 35*12 YSB-R-C
180 BUSHING/345S



5

    CUSTOMER
       SUPPORT

VESTEL LARDER

WHITE GOODS UNIT PARTS

201
203

204

205

205

207

209

210

211

215
213

214216

217

218

219
220

221

222

223

212

2257



    CUSTOMER
       SUPPORT

6

WHITE GOODS

VESTEL LARDER

UNIT PARTS LIST

POSITION 
NUMBER PART NAME

7 SCREW TT M5x14 YSB-F
201 MAIN CONDENSER/110
203 SPACER
204 PLUG,CABLE HARNESS
205 SCREW ST 4.8*13 YSB-T-C
207 ANTIVIBRATION (CONDENSER)
209 POWER CORD GROUP
210 POWER CORD
211 OVER LOAD RELAY
212 CAPACITOR (OPTIONAL)
213 SCREW 4.2*9.5 DIN 7981 YSB
214 EVAPORATING TRAY/260
215 DRYER (XH9,7.5GR) SERVICE
216 COMP. FIXING BRACKET
217 COMPRESSOR
218 COMP. BASEMENT/110
219 GROUNDING WIRE
220 NUT M4*3.2 DIN 934 ZNK
221 WASHER 4.3*8*0.9 DIN 6798 ZNK
222 SCREW M4*16 DIN 933 ZNK
223 FOOT
225 SERVICE TUBE (120*6*0,75)



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


